

NOTE ON A q -IDENTITY

L. CARLITZ

Fjeldstad [2] has proved the elegant formula

$$(1) \quad \sum_{s=0}^{2m} (-1)^s \binom{2m}{s} \binom{2n}{n-m+s} \binom{2p}{p-m+s} \\ = (-1)^m \frac{(m+n+p)! (2m)! (2n)! (2p)!}{(m+n)! (m+p)! (n+p)! m! n! p!}.$$

An equivalent form of (1) is

$$(2) \quad \sum_s (-1)^s \binom{m+n}{m+s} \binom{n+p}{n+s} \binom{p+m}{p+s} = \frac{(m+n+p)!}{m! n! p!}$$

where the summation is over all s yielding summands $\neq 0$.

It may be of interest to give the q -analog of (1) or (2). Put

$$(a)_r = (1-a)(1-qa) \dots (1-q^{r-1}a), \quad (a)_0 = 1,$$

$$\begin{bmatrix} n \\ r \end{bmatrix} = \frac{[n]!}{[r]! [n-r]!}, \quad [r]! = (q)_r.$$

Jackson has proved the identity [3, formula (2)]

$$(3) \quad \sum_{r=0}^{2m} (-1)^r \begin{bmatrix} 2m \\ r \end{bmatrix} (a)_r (b)_r (a)_{2m-r} (b)_{2m-r} q^{\frac{1}{2}r(2m-r+1)} \\ = (a)_m (b)_m (q^{m+1})_m (abq^m)_m.$$

In (3) take $a=q^{-m-n}$, $b=q^{-m-p}$. Then after a little manipulation we get

$$(4) \quad \sum_{r=0}^{2m} (-1)^r \begin{bmatrix} 2m \\ r \end{bmatrix} \begin{bmatrix} 2n \\ n-m+r \end{bmatrix} \begin{bmatrix} 2p \\ p-m+r \end{bmatrix} q^{\frac{1}{2}\{3(r-m)^2+(r-m)\}} \\ = (-1)^m \frac{[m+n+p]! [2m]! [2n]! [2p]!}{[m+n]! [m+p]! [n+p]! [m]! [n]! [p]!}.$$

In the left member of (4) replace r by $m+s$; we get

$$(5) \quad \sum_{s=-m}^m (-1)^s \begin{bmatrix} 2m \\ m+s \end{bmatrix} \begin{bmatrix} 2n \\ n+s \end{bmatrix} \begin{bmatrix} 2p \\ p+s \end{bmatrix} q^{\frac{1}{2}(3s^2+s)} \\ = \frac{[m+n+p]! [2m]! [2n]! [2p]!}{[m+n]! [m+p]! [n+p]! [m]! [n]! [p]!}.$$

An equivalent form of (5) is

$$(6) \quad \sum_{s=-m}^m (-1)^s \begin{bmatrix} m+n \\ m+s \end{bmatrix} \begin{bmatrix} n+p \\ n+s \end{bmatrix} \begin{bmatrix} p+m \\ p+s \end{bmatrix} q^{\frac{1}{2}(3s^2+s)} \\ = \frac{[m+n+p]!}{[m]! [n]! [p]!}.$$

The formulas (4) and (6) may be compared with (1) and (2), respectively.

When $m=n=p$, (4) reduces to

$$\sum_{r=0}^{2m} (-1)^r \begin{bmatrix} 2m \\ r \end{bmatrix}^3 q^{\frac{1}{2}(3(r-m)^2+(r-m))} = (-1)^m \frac{[3m]!}{\{[m]!\}^3},$$

an identity noted by Bailey [1].

REFERENCES

1. W. N. Bailey, *A note on certain q-identities*, *Quart. J. Math., Oxford Ser.*, 12 (1941), 173-175.
2. J. E. Fjeldstad, *A generalization of Dixon's theorem*, *Math. Scand.* 2 (1954), 46-48.
3. F. H. Jackson, *Certain q-identities*, *Quart. J. Math., Oxford Ser.*, 12 (1941), 167-172.

DUKE UNIVERSITY, DURHAM, N. C., U.S.A.